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BT-1002 (CBGS)
B.Tech., I & II Semester
Examination, May 2018
Choice Based Grading System (CBGS)
Mathematics - I
Time : Three Hours
Maximum Marks : 70

Note: 1) Attempt any five questions out of eight.
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ii) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Verify Rolle’s theorem for the function

f(x)=x*+2x-8,intheinterval (—4,2).

Fad (—4,2) Fwm f(x)=x" +2x—8 % Toq I W
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b) Find the slope and equation of the tangent to the curve

y= v —xat x=2.
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2. @ Evaluate |e"sinxdx using integration by parts,

Y TR 3 AT | Iexsinxdx M WA Fd R

b) Find equations of the tangent and normal to the curve
y = x" at the point (0,0).
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3. a) Expand thefunction f{x)=cosx in Maclaurin series and
hence find approximate value of cos 18°,

e f(x)=cosx F AmAia Aot # mw AR ok
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b) Verify Euler’s theorem for the function
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4. a) Find the maximum and minimum value of the function

X+ y!—?mzxy.
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If x*y”z* =c,thenshow thatatx=y=2z
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= —(xlogex)_l
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Iy = —(xlogex)_l
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Evaluate the limit nLr {_} .
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Prove that |(n+1)=n|(n).
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Prove that 2 E/Esin 2mlgcos* ™ @ d@ = B(m,n).
fre Fim 6 ZE’/zsin 2m1gcos®™ ' @ d8 = B(m,n)
Evaluate L? ﬁ(xz + yz)dx dy.

EE(A’Z + _yz)dx dy & HA Fd Hifr|
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Evaluate the triple integral J: ~0 -L:ﬁ J; -0 xdzdxdy .
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Find by triple integration, the volume of the sphere
+y*+78=a*-
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Find radius of curvature at a point ‘¢’ of the curve
x=acost,y=bsint,

' x=acost, y="bsint &€y ‘¥ W THN A 7@ B0

b)

du
If u = xlog xy where x* + y’ + 3xy =1, then find g
du = 3 3
aﬁwxlogxyaehgmaﬁﬁwax +y +3xy=1
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